|RBERR. CRBIERFRT

oy iﬁm?ﬁ

FREFSHANBESAERETRESAEN. MHEANSERERE. TERTHRE. RRAT. EHI4E.
BYIVETE. B RFRRAAENTRANRRRETL. BRARIERENEHE.

=, EEHAREIE
=% . HEMANED (P1) @EHREED (P2)  @EXZEQ | #OEBBL | HOEERY
MPa MPa m®/h
YQY-06 (B) 15 1 30 G5/8" M16x 1.5
SsmER | YQY-07 (B) 15 1.25 40 G5/8" M16x 1.5
YQY-08 (B) 15 2 50 G5/8" M16x 1.5
YQY-6 15 0.25 8 G5/8" M16x 1.5
ZIRmERE | YQE-03 (B) 1.6 0.15 5 3= M16 x 1.5%&
FSHES | YQAr-731L 15 0.15 0-15
AAERS | YQW-02 1.6 0.08




